
INSTALLATION MANUAL

Tilt Wall Mount

A0

23092 100kg
(220lbs)

RATED

100" 
MAX

200x200/300x300/
400x400/600x400/600x600
800x400/800x600/800x800

1000x400/1000x600/1000x800

400x200

reflecta gmbh
Merkurstrasse 8
72184 Eutingen i.G.
Germany

mail@reflecta.de
www.reflecta.de



21

X X√

1 32

X X√

2a

2b

1

M5x14 
M-A

(x4)

M-F (x4)

W-C (x6)

 2
M-C

M8x 0 (x4)

M8x 0 (x4)
M-E
3  

M-H (x4)

W-B (x6)

M6x14 
M-B

(x4)

M6x30 
M-D

(x4)

M-G (x8)

W-A (x6)

TVTV

TV

3-1

TV

TVTV

A (x1)

B (x1)

C (x1)

W-C
W-A

X

W-B

W-A
W-C

M-A
M-B
M-C

M-F

M-F

M-G
M-G

M-C

M-F

M-G

M-F

M-H

M-F

M-G
M-H

M-C/M-D/M-E

M-D/M-E M-D/M-E

3-2

D (x2)

D

E (x1)

E

E

5

 
 +15°

  -15°

           
 +15°

  -15°

          

4

ø 6mm

(ø 1/4") 

90mm

3.5"( )

90mm

(3.5")

95mm
3.7"( )

95mm
(3.7")

ø 12mm
(ø 1/2") 


	页 1
	页 2

